NOTE: FOR BEST RESULTS, TIGHTEN THE SCREWS ALL THE WAY TO THE END OF
THE DINETTE ASSEMBLY.

STEP 1

TAKE THE LATERAL BASES
AND JOIN THEM TO THE CENTRAL LEGS WITH THE
WITH THE HARDWARE SHOWN IN
IN FIGURE A

A 4
A

)

SPLIT LOCK WASHER 1/4"

BUTTON SOCKET SCREW 1/4" X 1"

STEP 2

THEN TAKE AND ALIGN THE LATERAL BASES
WITH THE CROSSBEAM AS SHOWN IN
AS SHOWN IN FIGURE B.

STEP 3

ONCE ALIGNED INSERT THE SCREWS
SHOWN IN FIGURE C.

SPLIT LOCK WASHER 1/4"

BUTTON SOCKET SCREW 1/4" X 1"

DESCRIPTION

i

ASSEMBLING BUTTON SOCKET SCREW 5/16 X 1" 4

4 BUTTON SOCKET SCREW 1/4 X 1" 12
% INSTRUCTIONS SPLTTOCK WASHER 1747 2

yi

SPLIT LOC
INTERNATIONAL I-TBL-E019 £

FLAT W
AL
AL




NOTE: FOR BEST RESULTS, TIGHTEN THE SCREWS ALL THE WAY TO THE END OF
THE DINETTE ASSEMB/I,Y./ ' ™~

STEP 4 |

AS A FINAL STEP
FOR THE IRONWORK, THE CROSSBEAM IS
THE CROSSBAR IS ALIGNED WITH
THE SIDE THE LATERAL BASE
TO PLACE THE HARDWARE
SHOWN IN FIGURE D

STEP 5

WITH SOMEONE'S HELP FLIP
THE COVER TO MATCH THE
THE BASE AND THE COVER, PLACE
THE SCREWS THAT ARE
THE COVER, PLACE THE
SCREWS SHOWN IN THE

SHOWN IN FIGURE E

BUTTON SOCKET SCREW
174 X 1"

SPLIT LOCK WASHER 5/16

BUTTON SOCKET SCREW
5/16 X 1"

SPLIT LOCK WASHER 5/16

FLAT WASHER 5/16 X 1"

DESCRIPTION #

R ASSEMBLING BUTTON SOCKET SCREW 5/16 X 1" 4

A, INSTRUCTIONS  wyroncocerscemy yxr 1

SBIT TOCK WASHER /16" £

INTERNATIONAL ~ |-TBL-E019 FLAT WASHER b/16 X1 z
ALLEN KEY 5/32




	Hoja1
	Vista de dibujo1
	Vista de dibujo2
	Vista de detalle A (1 : 6)
	Vista de dibujo5
	Vista de dibujo6
	Vista de detalle B (1 : 4)

	Hoja2
	Vista de dibujo9
	Vista de detalle C (1 : 9)
	Vista de dibujo13
	Vista de detalle D (1 : 7)


